(W4l XEFBE

X2 Tsil FABBAN)
RO 1,285
#0O-TH 92
*1l 104
b EERET 37
FEDA 92
BEEH+FI 49
BEDOMAFE 49
fEH 141
2 jth s A HT 106
it —TH 215
T ek T AR 96
A= AR El 402
Zith 120
Eam BT Al 16
Zih EL—TH 19
2 it # B 48
SN Tk 46
iR ER AT 12,988
ER A8 620
AR TA 4,134
TEET 319
AR HT 1,372
=1 2,799
ReE 699
&% AT El 2,291
=HINED) 237
R AR AT 779
A=V FSHH] 70
BITHR 93
BT Al 278
ik S E BRI 116
IR 92
TEEF 292
B LE 228
B 1L ER A1 1,494
=B 306
=HIE 198
F—ESRAET 801
=i 15,024
REWL 818
EE-TH 201
TE 806
i 1,479
TILHE 2,294
Ll 32 4+t 413
&L H 868
HRSDI LM 4,691
TEA 482
EX 2,065
Fihig 135

20174 3R

(%)

100

35K - BIRERE

90

80

70
60 -
50
40 -
30 -
20
10 -

0

68.7

(A)
2.0

FRE#R &

15

1.0

0.5

1.5

0.7

0.0

FRRAO~TILH

WA~ BRE R

FRAERES

48%

52%

FRIREO~TWA « WERT~BREER

-1/2-




(W4l XEF B4R

=2 Awi1 FIRAEHAN)
FERE ZREHI 389
3F Hh 75 [ #h A1 13
Lk =E 5 75
LEHE 188
L /N AR 221
SIS REERI 321
43¢ fft ] #th At 118
I3% fiff [ 1h =g 84
EBEHmRIEERH 361
RPN TR 446
K E7 37 HET 100
KETHET 62
KEF{HET 5,752
X&—TH 1,325
KB /NFERET 1,463
KEmM 1,893
AKBEB=Za1—49> 1,396
KEEELMTH 1,342
KEEELETH 861
B8 K& fm bl 528
i8R 661
1Ly i B B 374
bz 2,058
BE 180
Rk 304
+ A E 354
figiRERE 1,236
B 1R = 8l 1,959
BEE 2,401
fE 215
HOET 958
TEHT 1,314
B 1R 4% BT 2,356
B o H #7 927
SN s o] S ] 1,224
HhEO 433
T B KT 7,927

20174 3R

-2/2-



